Installation Guide

Pillows™
Accessories

K-7943, K-7958, K-7959,
K-7960, K-7961, K-7962,
K-7963, K-7964

M product numbers are for Mexico (i.e. K-12345M)
Los numeros de productos seguidos de

M corresponden a México (Ej.

K-12345M)

Francais, page “Frangais-1”

Espafiol, pagina “Espafiol-1”

THEROLDLOOK
- KOHLER.

1020815-2-A



Tools and Materials

& @ & \ ﬁ

Level

Pencil Tape
Y
ey
6 0 / 5
Assorted
Screwdrivers Drill & 1/2" bit Assorted Hex Adjustable
Assorted woodworking tools Wrenches Wrench
may be needed to finish the

wall.

Thank You For Choosing Kohler Company

We appreciate your commitment to Kohler quality. Please take a few
minutes to review this manual before you start installation. If you
encounter any installation or performance problems, please don’t
hesitate to contact us. Our phone numbers and web site are listed on
the back cover. Thanks again for choosing Kohler Company.

Before You Begin

DANGER: Risk of personal injury. These products are not
designed or intended for use as a grab bar or support bar. Do
not install any of these products in any area where they are
likely to be used inadvertently as a grab bar or support bar.

O These products should be located and mounted to a wall stud.
While it is possible to mount them to any surface, a stud mounted
product will yield the best results.

O Use a level to ensure that the center lines for the wall plates are
vertical where applicable and the post center lines are horizontal
where applicable.

0 Kohler Co. reserves the right to make revisions in the design of
products without notice, as specified in the Price Book.

o Observe all local plumbing codes and building codes.

1020815-2-A 2 Kohler Co.



5-7/16"
(13.8cm)

/x/ K-7960
5-3/16"

(13.2cm)

2-7/8"
(7.3cm) K-7962

2-7/8"
(7.3cm)

(13.8cm)
K-7964

5-3;1/6"\//

(13.2cm)

1. Roughing-In Information

Kohler Co. 3 1020815-2-A



Centerline Bracket Centerline

-~ Mark Mounting Marks
Holes
K-7958 | K-7961 Een e 0o
K-7959 K-7962 | ® & & |
K-7960
Level
K-7963 22-5/53"4r _
e (57.5cm)+ . Bracket f\)/lenlt(erlme
Mounting arks
Holes / ™~
K7964 T 57 100 T =n 5 =
(69.9cm) 7
Level

K7943 T 51 -i/ﬂ:
(53.7cm)

2. Mark Installation Locations

o Determine the desired location of the accessory.

O Mark the vertical centerline. If the accessory requires more than one
bracket, the brackets should be the recommended distance apart.

O Center the wall bracket(s) on the marked centerline.

O Use a level to establish the horizontal location of each wall bracket if
needed.

O Mark the individual mounting holes.

o Remove the wall bracket(s) and drill 1/2” holes into all mounting
hole locations.

1020815-2-A 4 Kohler Co.



Install the Wall Anchor Slip
Fitting

3. Install the Wall Anchor(s)

[m}

[m}

4.

[m}

[m}

Hold the toggle anchor flat alongside the plastic straps and slide it
through the previously drilled hole.

With one hand, pull the looped end straight out (do not pull at an
angle) so that the toggle anchor rests flush behind the wall.

Slide the clip along the straps with your other hand until the flange
of the clip is flush with the wall.

Place your thumb between the plastic straps. Wiggle the straps
side-to-side until they snap off at the wall.

Insert the enclosed bolt through the wall plate and tighten until it is
flush with the wall.

Minimum clearance behind the wall is 1-7/8” (4.8cm).

Install the Wall Bracket

Insert the mounting screws through the wall bracket mounting holes
and into the slip fitting.

Thread the screws into the metal channel and tighten with a Phillips
screwdriver.

Kohler Co. 5 1020815-2-A




Robe Hook

Wall —

~
Bracket N N

Robe
Hook

Hex Head
ex Hea
1/8" Hex
Screw K/Head
Wrench

5. Install the Robe Hook
O Position the robe hook on the wall bracket.

O Place a screw on a 1/8” hex head wrench and thread through the

wall bracket from underneath into the robe hook.

O Tighten the screw.

1020815-2-A

Kohler Co.



Soap Dish Tumbler Holder

Tumbler
Holder

)
Wall Bracket

S -
Hex Head - So\a Dish Screw ~8 _{
Screw P - Base
Holder
e ~_
1/8" Hex Head

Toothbrush
Wrench N 1/8" Hex Drawer

Head Wrench

6. Install the Soap Dish

O Position the soap dish holder on the wall bracket.

O Place a screw on a 1/8” hex head wrench and thread through the
wall bracket from underneath the soap dish holder.

O

Repeat with the second screw.

[m]

Tighten the screws.
Place the soap dish in the holder.

[m|

7. Install the Tumbler Holder

Position the base on the wall bracket.

Place a screw on a 1/8” hex head wrench and thread through the
wall bracket from underneath into the base.

O

[m]

Repeat with the second screw.
Tighten the screws.
Place the tumbler holder in the base.

O o o O

Place the toothbrush drawer into the carriage slot under the base.

Kohler Co. 7 1020815-2-A



Tissue Holder

Tissue Paper
Holder

Wall Bracket /
A2 ’\

"\ Hex Head
Screw

N
Spindle

1/8" Hex
Head Wrench

8. Install the Tissue Holder

O Repeat with the second screw.
O Tighten the screws.

9. Install the Towel Ring

[m]

[m]

Tighten the screws.

o Attach the spindle to the holder.

Towel Ring

Towel Ring
Holder

Wall Bracket

Hex Head

Screw T~
//} :

Towel Ring

1/8" Hex Head
Wrench

O Position the tissue holder on the wall bracket.

O Place a screw on a 1/8” hex head wrench and thread through the
wall bracket from underneath the base.

Position the towel ring on the wall bracket.

O Place a screw on a 1/8” hex head wrench and thread through the
wall bracket from underneath into the towel ring.

1020815-2-A

Kohler Co.



Towel Bar

Wall 8
Bracket Arm

@
" Hex Head | — Hex Head Screw

Screw

1/8"/Hex \ 332’ Hex
H W h
Head Wrench ead Wrenc

™~ Towel Bar

10. Install the Towel Bar

O Place the ends of the towel bar into the arms and use a 3/32” hex
wrench to tighten the screw.
O Position the towel bar arms on the wall brackets.

O Place a screw on a 1/8” hex head wrench and thread through the
wall bracket from underneath the towel bar arm. Repeat for the
second towel arm.

o Tighten the screws.

Kohler Co. 9 1020815-2-A



Glass Shelf
Glass Shelf

N

_, Vinyl Tube

Y

/&%
Plastic

@Q* _ Retaining

Clip
Glass Shelf —
Holder Screw
— 1/8" Hex Head

Hex Head Wrench
A Screw

Wall
Bracket

11. Install the Glass Shelf

o Position a glass shelf holder on a wall bracket.

Place a screw on a 1/8” hex head wrench and thread through the
wall bracket from underneath the glass shelf holder.

[m|

Repeat for the second glass shelf holder.

Tighten the screws.

Press a vinyl tube into the slot on each glass shelf holder.
Place the glass shelf on the vinyl tubes.

Press the plastic retaining clips into place. Insert the screws into the
bottom hole and tighten.

O o o o o

1020815-2-A 10 Kohler Co.



Guide d’Installation

Pillows™
Accessoires

Outils et matériaux

@@@\

rteau

Niveau Crayon Ruban
\ ‘ fendu
\(' /; © ) % /
% § 0 % ]
rounes | Perceuse
variés de 1/2 po Clés Allen Clé a molette

Il peut étre nécessaire variées

d'utiliser des outils pour le
bois pour compléter le mur.

Merci d’avoir opté pour les produits de la Société Kohler

Nous apprécions votre engagement envers la qualité de Kohler.
Veuillez lire attentivement ce guide avant de commencer I'installation.
En cas de problémes d’installation ou de fonctionnement, n’hésitez pas
a nous contacter. Nos numéros de téléphone et site web sont contenues
au plat verso. Merci encore d’avoir choisi des produits Kohler.

Avant de commencer

DANGER : Risque de blessures. Ces produits ne sont pas
destinés ou congus pour servir de barre d’appui ou main
courante. Ne pas installer les produits dans quelconque endroit
que ce soit ou ils pourraient étre utilisés par inadvertance a titre

de barre d’appui ou de soutien.

O |l est préférable de repérer un colombage pour I'installation de ces
produits. Ces produits peuvent étre installés sur différentes surfaces,
mais I’installation sur un colombage sera plus solide.

O Utiliser un niveau pour s’assurer que les axes des plagues murales
et des montants soient de niveau.

Kohler Co. Francais-1 1020815-2-A



Avant de commencer (cont.)

O Kohler se réserve le droit d’apporter des modifications a la
conception des produits sans avis, comme il est spécifié dans le
Catalogue des prix courants.

O Respecter tous les codes de plomberie et de batiment locaux.

1020815-2-A Francais-2 Kohler Co.



(13,8 cm)

1. Information du diagramme de raccordement

5-3/1&/

(13,2 cm)

2-7/8 po
(7,3 cm)

(18,2 cm)

K-7960

K-7962

Kohler Co.

Francais-3

1020815-2-A



Axe Orifices de Marques des

~ support de axes
fixation
K-7958 | K-7961 CarXax)
K-7959 | K-7962 | @ ®& & |
K-7960 /
Niveau
K-7963 22-5@
1 (57,5 Cﬁﬁ . Orifices de ~ Marques des
’ supportde  axes
fixation | S
K_7964+ N 2;-1/2 po :‘ﬁ e ! i) W
(69,9 cm) Y
Niveau

K7943 1T 21-‘]/84po+ﬁ
(58,7 cm)

2. Déterminer le lieu d’installation

o Déterminer I’endroit d’installation désiré.

O Marquer I'axe a la verticale. Si I'accessoire requiert plus d’une patte

de fixation, respecter la distance d’installation recommandée pour
chaque patte.

O Centrer les pattes de fixation sur le point marqué.

O Avec un niveau, déterminer la position horizozntale de chaque patte

de fixation.

O Marquer chaque trou de fixation.

O Retirer les pattes de fixation et percer des trous de 1/2 po aux

emplacements repérés.

1020815-2-A Francais-4 Kohler Co.



Installer le dispositif Raccord
d'ancrage du mur coulissant

w \
~ @ \
\%«Vis

3. Installer le dispositif d’ancrage du mur
O Maintenir I’'ancrage a plat sur les sangles en plastique, puis le glisser
dans le trou percé précedemment.

o D’une main, tirer vers le haut sur I’anneau (ne pas tirer en angle) de
sorte que I'ancrage repose a affleurement a I'arriére du mur.

O Faire glisser le capuchon de plastique le long des sangles jusqu’a ce
qu’il soit a égalité avec le mur.

O Placer le pouce entre les sangles. Plier les sangles d’un cété a I'autre
pour les casser.

O Insérer le boulon inclus dans la plague murale, puis serrer jusqu’a ce
gu’il soit a égalité avec le mur.

O Le dégagement minimale requis a I'arriére du mur est de 1-7/8 po
(4,8 cm).

4. Installer les pattes de fixation du mur
O Insérer les vis dans les trous de fixation des pattes et dans le raccord
coulissant.

O Visser la vis dans le profilé métallique et fixer avec un tournevis a
pointe en croix.

Kohler Co. Francais-5 1020815-2-A



Crochet pour lingerie

_—

Patte de SNUTN
fixation murale g Crochet pour
lingerie

Visatste
is & téte )
AN

5. Installer le crochet pour lingerie

O Positionner le crochet pour lingerie sur la patte de fixation.

O Poser une vis de 1/8 po dans la patte de fixation, & partir du
dessous du crochet pour lingerie.

O Serrer la vis.

1020815-2-A Francais-6

Kohler Co.



Patte de fixation

Savonniére Support
> Suppo
gobele

a gobelet

murale Patte de fixation
N Savonniére murale
%, //4 \%@Q
é @' ~ ~ ~ ‘ é g \'r /
RN AN Vis a téte ~
Vis a téte - ~
%/
Ve / \
Clé Allen de / Support de
1/8 po i brosse a dents
“\ Clé Allen de
1/8 po

6.

O

[m]

[m]

O a

7.

[m|

O o o o

Installer la savonniére

Positionner le support de savonniére sur la patte de fixation.

Poser une vis de 1/8 po dans la patte de fixation, a partir du
dessous du support de savonniére.

Faire de méme avec la deuxiéme vis.
Serrer toutes les vis.
Placer la savonniére sur le support.

Installer le support a gobelet

Positionner la base sur la patte de fixation.

Poser une vis de 1/8 po dans la patte de fixation, a partir du
dessous de la base.

Faire de méme avec la deuxiéme vis.
Serrer toutes les vis.
Positionner le support a gobelet sur la base.

Positionner le support de brosse a dents dans la rainure au-dessous
de la base.

Kohler Co.

Francais-7

1020815-2-A



Support de papier de toilette

Support de
papier de toilette

SN

Patte de fixation
murale

Anneau porte-serviettes

Support de anneau
de serviette

Patte de fixation

AS

\ Vis a téte

murale @
Vis a téte
hexagonale ™

hexagonale Barreau /J
/ A o
- nneau
1C/Ise ACI’Ien de / porte-serviettes
p Clé Allen de
1/8 po

8. Installer le support de papier de toilette

O Positionner le support de papier de toilette sur la patte de fixation.

O Poser une vis de 1/8 po dans la patte de fixation, a partir du
dessous de la base.

O Faire de méme avec la deuxieme vis.
O Serrer toutes les vis.
O Fixer la barre au support de papier de toilette.

9. Installer 'anneau porte-serviettes

O Positionner I'anneau porte-serviettes sur la patte de fixation.

O Poser une vis de 1/8 po dans la patte de fixation, & partir du
dessous de I'anneau porte-serviettes.

Serrer toutes les vis.

[m]

1020815-2-A Francais-8 Kohler Co.



Porte-serviettes Q

Patte de
fixation
murale

/

S

8

I Porte-serviettes

™ Vis a téte o
hexagonale & — Vis a téte hexagonale
¢ Clé Allen de
Clé Allen de < 1/8po

1/8 po

10. Installer le porte-serviettes

O Placer les extrémités du porte-serviettes dans les bras, puis serrer la
vis avec une clé Allen de 3/32 po.

O Positionner les bras du porte-serviettes sur les pattes de fixation.

O Poser une vis de 1/8 po dans la patte de fixation, & partir du
dessous du bras de porte-serviettes. Faire de méme pour le second
bras de porte-serviettes.

O Serrer toutes les vis.

Kohler Co. Francais-9 1020815-2-A



Etagére de verre

_, Tube de vinyle

R

Patte de /\\
fixation S

murale \ rafe
NG

Etagére de verre

N\

! lastique de
L @ o P
Support  —_ ) ) retenue
d'étagere de s & T Vis
verre
> €D\ N\ Clé Allen de
4 Vis a téte 1/8 po
s hexagonale

11. Installer I'étagére de verre

O Positionner un support d’étagéere de verre sur une patte de fixation.

O Poser une vis de 1/8 po dans la patte de fixation, a partir du
dessous du support d’étagére.

O Faire de méme pour le second support d’étagére.

O Serrer toutes les vis.

o Enfoncer un tube de vinyle dans chaque rainure des supports
d’étageére.

O Placer I’étagere de verre sur les tubes.

O Installer les agrafes plastiques de retenue en place. Insérer les vis
dans le trou inférieur et serrer.

1020815-2-A Francais-10 Kohler Co.



Guia de Instalacion

Pillows™
Accesorios

Herramientas y materiales

& _® & \ ﬁ

Nivel Lapiz Cinta

ONO o
Variedad de Taladro con
destornilladores broca de 1/2" ° variedad de Llave
Es posible que sea necesario emplear  llaves ajustable

diversas herramientas para trabajar la  hexagonales

madera para completar la pared.

Gracias por elegir los productos de Kohler

Apreciamos su eleccién por la calidad de Kohler. Por favor, tome unos
minutos para leer este manual, antes de comenzar la instalacion. En
caso de problemas de instalacion o de funcionamiento, no dude en
contactarnos. Nuestros numeros de teléfono y nuestra pagina web se
encuentran en la solapa posterior. Gracias nuevamente por escoger a
Kohler.

Antes de Comenzar

PELIGRO: Riesgo de lesiones personales. Estos productos no
estan disefiados para usarse como agarradera o barra de soporte.
No instale ninguno de estos productos en ningdn area en la que
puedan ser usados inadvertidamente como agarradera o barra de

soporte.

O Estos productos deben ser colocados y montados en un travesafio.
Aunque es posible montar el producto sobre cualquier superficie, se
sugiere asegurarlo a un travesafio en la pared.

O Utilice un nivel para asegurar que las lineas centrales de las placas
murales estén verticales u horizontales, dependiendo del caso.

Kohler Co. Espafiol-1 1020815-2-A



Antes de Comenzar (cont.)

o Kohler Co. se reserva el derecho de modificar el disefio de los
productos sin aviso, tal como se especifica en la lista de precios.

O Cumpla con todos los cédigos locales de plomeria y de construccion.

1020815-2-A Espafiol-2 Kohler Co.



5-7/16"

(13,8cm)
«/ K-7960
5-3/16"
(13,2cm)
5-7/16"
(13,8cm)
2-7/8"
(7,3cm) K-7962

(13,8cm)

5-3&

(13,2cm)

1. Diagrama de instalacion

Kohler Co. Espafiol-3 1020815-2-A



Cor:
K-7958
K-7959
K-7960

K-7963

Linea central
" marcada

=) é @ )
K-7961
K-7962

. 22-5/8" |
(57,5cm)

K-7964

+ |+

K-7943

27-1/2"
(69,9cm)

ik

. 21-i/f{+
(58,7cm)

Qrifi_c,ios de Lineas
fijacion del centrales
soporte / marcadas
Cal-Xa))
[®@ & & |
Nivel
Lineas
Orificios de centrales
fijacion del ~Marcadas
soporte \
EN ) . ©
/
Nivel

2. Determine el lugar de instalacion

o Determine la ubicacion deseada para el accesorio.

O Marque la linea central vertical. Si el accesorio requiere de mas de
un soporte, respete la distancia de instalacion sugerida entre los

soportes.

Centre los soportes murales en la linea central marcada.
Nivele horizontalmente los soportes, de ser el caso.
Marque los orificios de fijacion.

O 0o o d

Remueva los soportes murales y perfore orificios de 1/2" en todos
los puntos respectivos.

1020815-2-A Espafiol-4

Kohler Co.



Instale el sujetador mural Fijadores
deslizantes

—~,,_ Orificio de fijacion @
/" Sujetador de pared (2 é@@ \%N
Grapa ~ )
o
s

%N Tornillos

Correa  Bucle

3. Instale el sujetador mural

O Apoye el sujetador contra las tiras plasticas e introduzca en el
orificio previamente perforado.

O Con una mano, hale el extremo en forma de anillo hacia afuera con
fuerza, para que el sujetador descanse al ras, detras de la pared.

o Con la otra mano, coloque la tapa plastica sobre las tiras, hasta que
el borde de la tapa esté al ras de la pared.

O Coloque el dedo pulgar entre las tiras plasticas. Doble las tiras
plésticas de un lado a otro hasta que se rompan.

O Introduzca el perno incluido en la placa mural y asegure hasta que
la unidad esté al ras de la pared.

o El espacio libre minimo detras de la pared es de 1-7/8" (4,8cm).

4. Instale el soporte mural

O Instale los tornillos de fijacion en los orificios del soporte.
O Fije a la ranura metélica con un destornillador de estrias.

Kohler Co. Espafiol-5 1020815-2-A



Gancho para batas

Soporte
mural —
~
~' Gancho
para batas

Tornillo Llave
hexagonal \
g ~ hexagonal
de 1/8"

5. Instale el gancho para batas

o Coloque el gancho para batas sobre el soporte mural.

O Instale un tornillo de cabeza hexagonal de 1/8" desde la parte

inferior del soporte mural al gancho para batas.

O Fije el tornillo.

1020815-2-A Espafiol-6

Kohler Co.



Jabonera Portavasos
Portavasos __

Soporte mural

/
AN Jabonera Soporte mural
AE
~ &
~
" Tornillo ™ N Tornillo /é
hexagonal Soporte de pexagonal
P jabonera
Llave hexagonal / Soporte de cepillos
de 1/8" dentales
 Llave hexagonal
de 1/8"

6. Instale la jabonera

O Coloque el soporte de la jabonera sobre el soporte mural.

O Instale un tornillo de cabeza hexagonal de 1/8" desde la parte
inferior del soporte mural al soporte de la jabonera.

O

Repita el procedimiento con el segundo tornillo.

[m]

Fije los tornillos.

O

Coloque la jabonera en el soporte.

7. Instale el portavasos

o Coloque la base sobre el soporte mural.

O Instale un tornillo de cabeza hexagonal de 1/8" desde la parte
inferior del soporte mural a la base.

O Repita el procedimiento con el segundo tornillo.

O Fije los tornillos.

o Coloque el portavasos en la base.

O Coloque la gaveta para cepillos dentales en el riel respectivo debajo

de la base.

Kohler Co. Espafiol-7 1020815-2-A



Portapapel higiénico

Portapapel higiénico
Soporte mural

“Tornillo
hexagonal
/ Barra para
Llave papel higiénico
hexagonal de
1/8"

Aro para toallas

Aro para toallas
Soporte mural
b
Tornillo —__ ]
hexago

Llave hexagonal
de 1/8"

AN

Aro para toallas

8. Instale el portapapel higiénico

O Coloque el portapapel higiénico sobre el soporte mural.

O Instale un tornillo de cabeza hexagonal de 1/8" desde la parte
inferior del soporte mural a la base.

O Repita el procedimiento con el segundo tornillo.

o Fije los tornillos.

O Instale el rétulo de soporte del papel higiénico.

9. Instale el aro para toallas

[m]

O

Coloque el aro para toallas sobre el soporte mural.
Instale un tornillo de cabeza hexagonal de 1/8" desde la parte

inferior del soporte mural al aro para toallas.

[m|

Fije los tornillos.

1020815-2-A

Espafiol-8

Kohler Co.




Barra para toallas ()
g

Soporte g R
mural Brazo |
@é\
(‘ " Barra para toallas
Tornillo
hexagonal | — Tornillo hexagonal

Llave / \ Llave
hexagonal de < hexagonal de

1/8" 1/8"

10. Instale la barra para toallas

O Coloque los extremos de la barra para toallas en los brazos
correspondientes y asegure el tornillo de fijacion con una llave
hexagonal de 3/32".

O Coloque los brazos de la barra para toallas sobre los soportes
murales.

O Instale un tornillo de cabeza hexagonal de 1/8" desde la parte
inferior del soporte mural al brazo de la barra para toallas. Repita la
operacién en el segundo brazo.

O Fije los tornillos.

Kohler Co. Espafiol-9 1020815-2-A



Anaquel de vidrio

Tubo de vinilo

X/

Anaquel de vidrio

N

Soporte
mural

Presilla de
/ retencion
plastica
Soporte de —
anaquel de " Tornillo
V|dr|o
g / Llave
Torn|IIo hexagonal de
3 hexagonal 1/8

11. Instale el anaquel de vidrio

O Coloque un soporte de anaquel sobre el soporte mural.

O Instale un tornillo de cabeza hexagonal de 1/8" desde la parte
inferior del soporte mural al del anaquel.

Repita el procedimiento con el segundo soporte de anaquel.

Fije los tornillos.

Instale una tira de vinilo en la ranura de cada soporte de anaquel.
Coloque el anaquel de vidrio sobre la tira de vinilo.

O o o o o

Instale las grapas de retencidn en su lugar. Inserte los tornillos en el
orificio inferior, y asegure.

1020815-2-A Espafiol-10 Kohler Co.



1020815-2-A



USA: 1-800-4-KOHLER
Canada: 1-800-964-5590
Meéxico: 001-877-680-1310

kohler.com

THEROLDLOOK
- KOHLER.

©2003 Kohler Co.

1020815-2-A



